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For these, choose the answer that is the most
specific name for the quadrilateral. Remember,
none of the figures are drawn to scale...
1. AB=BC=(CD=DA.

A

@ Rhombus

B. Quadrilateral
C. Rectangle

D. Square

N

<
(]

3. JIJR

A. Parallelogram
B. Rectangle
@'l‘ra pezoid
K D. Rhombus

5. Q3=RT, QS and RT bisect each other.

D—

A. Rhombus
B. Parallelogram
C. Square

( I!) Rectangle

-q‘.
. =

7. XCLED. and BD bisects AT

Q)\'lle
Quadnlateral

C. Rhombus
C D. Square

A

<

9. 21, £). <K. and 2L are all 90°,

A Quadnlateral
7N Re vl
u AL LLH'EL.!.‘

C. Square

D. Rhombus

2. EG bisects FH, and FH bisects EG.

A. Trapezoid

B. Rectangle
Parallelogram

D. Square

A. Kite

B. Parallelogram

C. Rectangle
@}iquare

U \J
A. Rectangle
T (E Parallelogram
C. Rectangle
X 4 W D. Trapezod

8. FNLFG. FH bisects FG and FG bisects FI1.

A Kite
@Hhumbus
C. Rectangle

A D. Square
G

H
10. 8% § OF and PN 1 ON.
M

A Trapezoid
B Rectangle
P C Square

N @P.‘u‘a‘.iclogram

0
h:!“.v the correct answer choice trom cach item above.

1. 2. 3. 4. 5. 6. 7. 8. 9. 10.
OA. OA QA OA OA OA. OA OA OA. OA.
OBR. OBR. OR. OR OB8. OB @]} OB8. Os. @]
Oc Oc. oc Oc. OcC OcC QcC QcC Q. QocC




11. 2Q=«S, and LR=LT.
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[

R

S

A. Square

B. Rectangle
(/Parallelogram
D. Quadrilateral

3. 2EAB, 2EAD, £ADE, and £CDE measure 45°.

A

B

45
hy A

Sk

Trapezoid
. Square
C. Parallelogram
D. Rhombus

 mzL+mzI=180° m«L+m«K=180°,

]

N
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2N
77

A. Rectangle

A . Trapezoid
JParallelogram
. Square
K q

QS bisects 2RQT and £RST, RT bisects 2SRQ

and £QTS.
R
=
S

A. Trapezoid

B. Parallelogram
C. Rectangle
@Rhombus

A, £B, £C, and £C all measure 90°.

L

B

@ Rectangle

B. Square
C. Kite
D. Rhombus

12.msX+meU=180°,

] Vv
@'rapemid

3. Square

C. Para“elogram
X W D. Rectangle

14. AB=BC=CD=DA.
2 |
. [] I d Rectangle
square
T T .Rhombus
. D. Kite
ml |
H { G
16. PM || ON.
M N .
A. Kite
( E:Tl rapezoid
3 3 . Parallelogram
D. Quadrilateral

P 0]

18.TUW bisects VX, and VX bisects UW.

U.- v @’arallelogram
. N B. Rectangle
' el C. Kite
N £ D. Rhombus
L= -
20. EF=FG, and GH=HE.
E | F .
I A. Quadrilateral
Rectangle
2 = JKite
D. Rhombus
H H G

Sl

* the correct answer choice from each item above.
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A. Square
B. Parallelogram
C. Rectangle

@ Rhombus

fS.; ){hombus
B. Quadrilateral
C. Rectangle

D. Square

(ADParalle] ogram
B. Quadrilateral

gy
D. Rhombus

A. Rhombus
B. Rectangle

. Parallelogram
Square

A. Rectangle
Quadrilateral

C. Trapezoid

D. Kite

24,

29

-
PP

28.

30.

A.Rectangle
@Parallelogram

C.Square

D. TrapeZOid

A. Parallelogram
B. Square
C. Rhombus

. ectangle

@rrapeZOid

B. Parallelogram
C. Rectangle
D. Kite

A. Trapezoid

®Quadrilateral

C. Kite
D. Parallelogram

A. Rhombus
B. Square
C. Trapezoid

@)arallelograr



For these choose the answer thatis the most
specific name for the quadrilateral. (Draw a
picture first!)

31. In quadrilateral ABCD AR=CD and BC=DA.
Quadrilateral ABCD is a...

A Rectangle A1
@‘)‘urailelogram

C. Square c
D. Trapezoid N

33.In quadrilateral JKL TK and KL are
perpendicular and bisect each other.

Quadrilateral IJKL is a...

@Rhombus 1 ﬁ

B. Parallelogram

C. Rectangle L

D. Square

35.In quadrilateral QRST Q5=RT. Quadrilateral
QRST is a...

A. Rhombus

B. Quadrilateral
Rectangle

D. Square

37, In quadrilateral ABCD AB=CD=BC=DA, and
all angles are 90°. Quadrilateral ABCD is a...

A. Rectangle
Square

C. Parallelogram

D. Rhombus

39. Quadrilateral IJKL is equilateral.
Quadrilateral 1JKL is a...

hombus
B. Trapezoid

C. Rectangle
D. Square

B il R i N SR

32, In quadrilateral EFGH FG and FH bisect each
other. Quadrilateral EFGH is a...

A. Quadrilateral
RB. Square

@ Parallelogram
D. Rectangle

34. In quadrilateral MNOP MN || OF. Quadrilateral
MNOP is a...

A. Square
B. Parallelogram
C. Rectangle

@rapezoid

36. In quadrilateral UVYWX OW=VX, UW bisects
VX, and OWLVX. Quadrilateral UVWX is a...

A.Rhombus OMB =z b;%p#; 1
B. Quadrilateral /
C. Rectangle

@Square

38.In quadrilateral EFGH £E=£G, and £F=«H.
Quadrilateral EFGH is a...

A. Rhombus

B, Quadrilateral
éParallelogram

D. Square

40.In quadrilateral MNOP 4P and £M are
supplementary. Quadrilateral MNOP is a...

A. Rhombus

Trapezoid
C. Rectangle
D. Square

ubble the correct answer choice from each item above.
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